3.2D

. The table shows the population of some Texas cities.

City Populations

City Population
Round Rock 59,887
San Angelo 52,000
Sugar Land 78,817

Allen City 84,246
Longview 80,455

Which comparison of two of these cities is NOT true?

A. The population of Round Rock is > the population of San Angelo

B aw

The population of Allen City is > the population of Sugar Land
The population of San Angelo is < the population of Allen City

The population of Sugar Land is < the population Longview
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The table shows the number of holiday lights on each tree in the park.

Which list shows the trees in order from greatest to least?

A. Tree C, Tree B, Tree A, Tree D
B. Tree D, Tree A, Tree C, Tree B
C. Tree C, Tree B, Tree D, Tree A
D. Tree D, Tree C, Tree A, Tree B

Number of Lights

T || Mimenne
Tree A 1,617
Tree B 1,612
Tree C 2,003
Tree D 2,075

The list shows three clues about a number.

The number is less than 1,319
The number is greater than 1,233
The number has a digit greater than 3 in the tens place

Which of these could be the number described?

A. 1,422
B. 1,246
C. 1,235
D. 1,225
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The list shows three clues about a number.

¢ The number is less than 3,027
« The number is greater than 2,923
« The number has a digit less than 5 in the tens place

Which of these could be the number described?

A. 3,055
B. 2,991
C. 3,051
D. 2,948

The list shows three clues about a number.

s The number is less than 4,517
s The number is greater than 4,267
s« The number has a digit greater than 3 in the hundreds place

Which of these could be the number described?

A. 4,439
B. 4,591
C. 4,375
D. 4,291
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